J. 1911.

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License# 3/34/	API No. 15 - 009 - 2489 - 3 · 00 · 00
Name: Craig DIL Company	Spot Description:
Address 1: 15 South MAIN	SW. SE.NW. Sec. 15 Twp. 16 S. R. 12 East 2 West
Address 2:	
City: Russe // State: Ks zip: 67665	
Contact Person: Ward Crais	Footages Calculated from Nearest Outside Section Corner:
Phone: (785) 483 - 1543	Poolages Calculated from Nearest Oblishe Section Corner:
,	County: BATTON
CONTRACTOR: License #	
Name:	Lease Name: Kramer Well #: 5
Wellsite Geologist: Froncis Whister	Field Name: Beare
Purchaser: PANNON	Producing Formation: Arbnekle
Designate Type of Completion:	Elevation: Ground: 1909 Kelly Bushing: 1914
New Well Re-Entry Workover	Total Depth: 35/9 Plug Back Total Depth:
[☑] Oil ☐ WSW ☐ SWD ☐ SIOW	Amount of Surface Pipe Set and Cemented at: Feet
☐ Gas ☐ D&A ☐ ENHR ☐ SIGW	Multiple Stage Cementing Collar Used?
☐ OG ☐ GSW ☐ Temp. Abd.	If yes, show depth set: Feet
CM (Coal Bed Methane)	If Alternate II completion, cement circulated from:
Cathodic Other (Core, Expl., etc.):	feet depth to:w/sx cmt.
If Workover/Re-entry: Old Well Info as follows:	
Operator:	Drilling Fluid Management Plan
Well Name:	(Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	Chloride content: ppm Fluid volume: bbls
Deepening Re-perf. Conv. to ENHR Conv. to SWD	Dewatering method used: 9/10w to Dry and BACLF, 11
Conv. to GSW	Dewatering method used. Wy 1000 1 5 4 4 100 100 100 100 100 100 100 100 100
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauted offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	Lease Name: License #:
SWD Permit #:	QuarterSecTwpS. R East West
☐ ENHR Permit #:	County: Permit #:
1-6-0b 1-18-06 3-3-0b	
Spud Date or Date Reached TD Completion Date or	
Recompletion Date Recompletion Date	
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workover or co of side two of this form will be held confidential for a period of 12 months if requiality in excess of 12 months). One copy of all wireline logs and geologist we BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 for	uversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information uested in writing and submitted with the form (see rule 82-3-107 for confiden- II report shall be attached with this form. ALL CEMENTING TICKETS MUST
AFFIDAVIT	KCC Office Use ONLY
I am the affiant and I hereby certify that all requirements of the statutes, rules and re	egu-
lations promulgated to regulate the oil and gas industry have been fully complied and the statements herein are complete and correct to the best of my knowledge	· · · · · · · · · · · · · · · · · · ·
1/ 1/ 1	Confidential Release Date:
Signature: World Crass	Wireline Log Received
	☐ UIC Distribution
Title: Operator Date: 7-29-1/	ALT [X]
	AUG 0 4 2011

KCC WICHITA

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

************ * INVOICE * * *******

Invoice Number: 100206

Invoice Date: 01/12/06

Sold Craig Oil To: 48 S. Kansas

Russell, KS

67665

Cust I.D....: Craig

P.O. Number..:

P.O. Date...: 01/12/06

Due Date.: 02/11/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	ТX
Common	225.00	SKS	8.7000	1957.50	Т
Gel	4.00	SKS	14.0000	56.00	T
Chloride	7.00	SKS	38.0000	266.00	${f T}$
Handling	236.00	SKS	1.6000	377.60	E
Mileage	30.00	MILE	14.1600	424.80	E
236 sks @.06 pe	er sk per mi				
Surface	1.00	JOB	670.0000	670.00	E
Mileage pmp trk	30.00	MILE	5.0000	150.00	E
Wooden Plug	1.00	EACH	55.0000	55.00	T

All Prices Are Net, Payable 30 Days Following Subtotal:
Date of Invoice. 1 1/2% Charged Thereafter.

If Account CURRENT take Discount of \$ 395.69 Payments:
ONLY if paid within 30 days from Invoice Date Total...:

ubtotal: ax....: ayments: otal...:

\$ 3714.12

3956.90

152.91

4109.81

0.00

pd ct 311-06.12-\$ 3714.12-

RECEIVED
AUG 0 4 2011
KCC WICHITA

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

* INVOICE *

* **********

Invoice Number: 100264

Invoice Date: 01/18/06

Sold Craig Oil

To: 48 S. Kansas Russell, KS

67665

Cust I.D....: Craig

P.O. Number..: Kramer #5 P.O. Date...: 01/18/06

Due Date.: 02/17/06 Terms...: Net 30

l

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common Handling Mileage	175.00 175.00 30.00	SKS SKS MILE	8.7000 1.6000 10.5000	1522.50 280.00 315.00	T E E
175 sks @.06 per Longstring Mileage pmp trk T. cents. Baskets AFU Insert Guide Shoe Rubber Plug	sk per mi 1.00 30.00 8.00 2.00 1.00 1.00	JOB MILE EACH EACH EACH EACH	1320.0000 5.0000 60.0000 140.0000 235.0000 160.0000 60.0000	1320.00 150.00 480.00 280.00 235.00 160.00	T T T

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$480.25 ONLY if paid within 30 days from Invoice Date

Subtotal:
Tax...:
Payments:
Total..:

ments: al...:

4802.50 179.31 0.00 4981.81 (486.25)

pd ct 3443 2-17-06 \$4501.56

RECEIVED
AUG 0 4 2011
KCC WICHITA

Operator Name:	raig O	IL COMPA	໙	Name:	Kcame	°C	Well #:	5		
Sec. 15 Twp. 14			County	വ	Arton					
INSTRUCTIONS: Show ime tool open and close recovery, and flow rates ine Logs surveyed. Atta	ed, flowing and shut- if gas to surface tes	in pressures, whether a t, along with final chart	shut-in pres	sure read	ched static level,	hydrostatic pressi	ures, bottom l	nole tempera	ature, fluid	
(Attach Additional Sheets)		ĽYes □No		EK.	Log Formation (Top), Dep		i Datum	Sample		
		Yes Wo	Name Anhydrite		_	Тор - <i>O</i>	N	Datum NA		
Cores Taken		☐ Yes ☐ HNo		Tope KA			709		- 795	
lectric Log Run				Toro	nto	3	014	- 1100		
lectric Log Submitted I (If no, Submit Copy)	Electronically	Yes ANo		L .			098	-118		
				LAN	eing Lauring		142	-14:	28	
.ist Ali E. Logs Run:					LANSING rekle		416	-150	12	
		CASING Report all strings set-	RECORD	Ne urface, inte		on, etc.	<u></u>		<u> </u>	
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Wei		Setting Depth	Type of Cement	# Sacks Used	Type and Addi	i Percent	
Surface	12.25	8.625	24	į ar	393			 	Chlend	
Long string	7.875	5.5	15.50" 3\$24 com.		COMMON	175				
	<u> </u>	ADDITIONA	L CEMENTI	NG / SQL	EEZE RECORD	<u> </u>	1	<u> </u>		
Purpose: Perforate	Depth Type of Cement # Sacks Used			Used	Type and Percent Additives					
Protect Casing Plug Back TD Plug Off Zone	3433						·			
										
Shots Per Foot	Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated			Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth						
4	3433 - 3439			HEC Shot 3439						
										
TUBING RECORD:	Size: 2 7/8	Set At: 3400	Packer A	t:	Liner Run:	Yes No				
Date of First, Resumed Pr			thod:	ng [T	Gastjift ∏0	ther (Explain)	ON COI	nmer	cial	
Estimated Production Per 24 Hours		de Gas	Mcf	Wate			as-Oll Ratio	-	Gravity	
			L							
DISPOSITION Vented Sold	OF GAS:	l <u> </u>	METHOD OF Perf.	COMPLE Dually (Submit A	Comp. Con	nmingled nit ACO-4)	PRODUCTION	ON INTERVAL		
(If vented, Subm.	H ACO-18.)	Other (Specify) _		, - a			<u> </u>	DEOF.		
						•		RECEN	/FTS	

Mail to: KCC - Conservation Division, 130 S. Market - Room 2078, Wichita, Kansas 67202

AUG 0 4 2011

KCC WICHITA